Following are solutions to some of the problems we struggled in class with on Monday. One common thing we did wrong was in calculating ∆n. Remember, when it’s a solid or pure liquid, we don’t count its moles when calculating ∆n hence for the mercury question (chapter 14 Q.104), the ∆n is 1 and not 0 like we had. Same goes for question 19 in the review.
I have included the solutions to questions 14.104 and 15.104 which are both typed. I’ve also included the solutions to question 19 from the review as well as question 17 which Misty had requested (both of these I had written out in pencil).

Do let me know if you have any questions
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